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1. Arrange the following complex in increasing order of intensity of calour
[CalCMNYP-, [CofH:O)R*, [CoCl
(1) [Co{CNJe*. CofH20)e*, [Ca

(2} [CoCLP-, CofHaOlP*  [CofCNjal

(3) [Co(CN)el*, [CoClafP~, Co(H20)e]* {4} Co[HaD)ef", [ColCNe, [CaCla*
Sol. (1)
[ Complex Colour
[T [ [ColChlP-, | Yellow |

CofHz0ef" Pink
| [CoC Biie
2 Which of the fallowing does not disproportionate
(1) B0~ {2) Brog (3 Brog (4) Brof
Ans. (4)
Sol.  In B0y, Bris in maximum oxidation state. So it can anly reduce
3. A metal M an reaction with excess axygen give MOz type oxide (as main product) then possible metal is
(o (21 Na (3K (4) Mg
Ans.  (3)

Sol. K+ O (excess) — KOs

Paotassium on reaction with excess oxygen give superaxide

4. Identify the comectincreasing order of 18t lonisation energy of following
Al Mg, 51,5 P

(1) Mg, AL 5. P, S (24l Mg, 5.5 P (31 Mg, &SI, 5. P (4] &1 Mg, Si, P. S
Ans. (2)
Sol. Mg 3g

Al 3s5%3p?

S 3e23p2

P 3s3p?

L= eV
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5. Four molas of a diatomic gas is heated from 0°C to 50°C, find the heat supplied to the gas if work done i
by it is zero
(1) 780 R {21500 R (31100 R
Ans. (2)
Sol. w=0
AE = gy = NCAT
4x B wep=spoR
6. HMNOg an reachion with POy gives an axide 'A°
PaOhg + HNDz — Afoxide)
Mature of oxide A is
(1) acidic (2) Basic (3} Neutral {4) Amphatenc
Sol. Pl + SHNOy — 2208 + 4HF Oy
A
Mature of axide ‘A" is "acidic®
7. An equimalar mixture of benzene (PPaenze= = 70 torr and methyl benzens (PPuesy Benzese = 20 torr} is
prepared, than find maole fraction of benzene in vapour phase.

Ans. 07
Sol.  Prou= By Noswess * Pl Kreises
|

1
7 +120) 3

T duere
= = § Lk
Fros  Fhegeme Fraere

1 = Yoowe 1~ Voowme

15 7 20
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8. Find total number of lone pair of electron on central atom in I3
Ans. 3
|
LaY
Sol. gi‘ﬂ’
I

Total lone pair on central atom = 3.

9. Which of the follawing have positive electrode potential for reaction M. + 2e- =M,
(1) Ca (2)Ni (3} Cu 4) Zn
Ans. (3]

2oy = 0,34V
E-.';nr”.'t.‘u 4

Sol. Cu* (ag)+2e-——Cu

10. Which of the follawing is most easly economically refined by Fractional distillation
(mzn (23 i (3)cu (4)Fe

Ans. (1)

Sal. "Theory Based"
Fractional distiltation process utilizes the boiling point difference betwean metal and that of impurity
Using this process, crude zinc containing Cd, Fe and Pt as impurities can be refined

1. Amang the following pairs which is incorrect regarding sirmalanty in properties
(1) Be(OH)2, AllOH}l (2} NaOH, CalOH)z (3§ B{OH)s, HaP O (4) B{OH), Mg{OH )=
Ans.  {4)

Sol.  B{OH}s is HiBOs 18 acudic in nature
Mg{OHz is basic In naturs

12. Statement-1 : Oihedral angle of Hz0z in gas is around 90°

Statement-2 : Dihzdral angie of Hz0z in solid is around 111.5°

are the statements ture of false

(1) True, Trus (2} True, False (3) Faise, True (4) False, Faise
Ans.  (4)
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13. 4.5 gram mass of a substance [molar mass = 80 g/mal] is dissolved in 250 mi solution, then malarity of
solution is -
Ans, 02
Wors
Sol. Malarty (M) = 2
GMM e

45x1000 _ 45«4

M= —
80=250 80

=03IM

14. What 1s the magnetic moment (Spin only) of complex [Co{CNj}*
[Feport your answer to nearest integer]

Ans. (2)

Sel,  [Co(CMil* =3 Co®* = 3d" 40
So number of unpaired electrons = |
b= D =

3BM = 2 BM

p=17

15. 10000 KJ energy is needed per day, if heat of combustion of glucose is 2700 KJ/Mole. Then how many
gram of glucose is needed per day for this | [Repart your answer to nearest integer]

Ans. G687
Sol. CaHi20a + BH2O — BCOag + 6H20, aH = 2700 KJ imale
Glucose

1
Mo. of mole of glucose require for production of 10,000 KJ heat is = =

10
Total mass of glucose = ij?ni]qﬁq =160 = 66667 gram
16. The value aof ¢ {azimuthal quantum number) for valence shell alectran of Ga* jan is

Ans. 0
Sol. Ga= |s? 257 3p® 357 3p® 3470 457 4p!
Ga* = 15" 25* 2pP 357 3pt 3dW0 dg?

Azimuthal Quantum number (£) far valence shell electran (s 0
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18. Anion of a compound ' gives brawn ring test and cation gives deep blue calaration with NHsOH and
alsa gives precipitate wath HCI & Ha2S, then compound %' is
(1) CulNCs)a (2) PbN Oz (3) Pb{NOzk (4) Zn{NOs)
Sol.  Mitrates give brown ring test
Cu® + 4NHafag)—s [Cu{NHa)sF*{aq)
Deep Biue
Cue + a8 — oS 4
Black

19. What is the value of second excitaton energy of Li**

(1) 108.8 e¥ (21818 eV (3)136ev (41852 eV
Ans. (1)
n=3 — I acited state
Sel. n=2 ————— = excited state
A=t Ground state

e Ly

=136=8=108.8 eV
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20.

2.

Sel.

Ans.

P+ CHCR ", Q
Panenma  Pr odust

Identity compound P and 0 respectively

{1) Primary amine, sscondary aming (2) Primary aming, Primary aminz
{3) Prmary amine, Isonitrile (4) Secondary aming, lsonitnie
(3)

Only 1® amines give carbylarmines reaction
R—MH; +CHCh +3KOH—s  R_NC  +3KC| + 3H:0

|mnnitrie
b i Pt ot )

In which of the fallowing carbocation are resonance stabilised

EH X Hi +
@/G CH; m O,C ON
(A) (=]

(c) )
(NAB (2)A,C (34,0 4)A.BC
{3)
=
H +
CHa
& are resonance stabilised carbocations
(A) {ied]

When ethanol is reacts with 3-Bromo-2 2-dimethyl butane then product formed is

(1) 2, 2-Dimethyl-3-ethoxybutane (2} 2-Ethaxy-2 3-dimethyl butane
{3) 2-Ethoxy-2-methyl pentane {4} 3-Ethowy-2, 2-Dimethyl butane
2]

CHa Br CHy

| ETOH |+
H:C—]C — CH-CHs = HaC-C — CH-CHa
CHa reaction CHs

DM 6-2, 2-dimett "
3-bromo-2,2-dimetmy bitans N .
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23. Minhydon +  NHaCH-COOH ——»Product is 7
a-amina acid

o o) o} o
ru@u@ 2 =
(8] U »)
o) 0 o o]
m@?ﬁ@ (4) NH
&
Ans. (1)
a Fli (o o 0
H
ol NH:-CH-COOH ' e a0
H “CH
Minkydrin : . Deep Blue

Ruhe mann's purple

Minhydrin is useful for identfication of a-amino acid which react with ninhydrin and give deep blue colour

24, O oy s
HyS0, 14
i MG
0 1279K

A B are regpectivaly
(1) bath dial

{2} both dicarboxylic acd

{3) A is dicarbaxylic acid and B is dial

4) A is diol and B is dicarboxylic acid
Ans. (3
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25. Orlonisa

(1) Polyamide (2) Palyester (3} Palyacrylonitrite (4) Potycarbonate
Ans. (3]
Seol. Orlon 1s 3 polymer of acrylonnle also known as PAN
( CN
CH:=CH-CsN—s |
\—CH, —=CH-=]
? In
Acrylonitniz FAM or arfon

26. Which of the fallowing is better far green chemistry in day ta day life (Domestic Purpose)
(1) CiC = CClz as dry cleaning agent liquid (2} Ligquid COz far cloth cleaning
{2) Clz gas a bleaching agent of paper (4} CCly as dry cleaning agent

Ans. (2]

Sol. CCh = CClzwas earlier used as solvent far dry cleaning agent but it 1s carcinogen. Sa liquid COz 15
used Replacemant of halogenated solvent by hiquid COz wall result in less hamm to ground water

7. Which of the fallowing incorrect
(1) Amylose 15 branched (2} Starch n made up of o-glucoss
{3) Glycogen is also called animal starch (4} B-giycosidic Iinkage far cellulose
Ans. (1)

28. How many mole of CHaMgBr are required to convert ethylethanoate to 2-methylpropan-2-ol

Ans. (2]
o (1) CHamgBr OH
Sol. oA oo, M o 8 o MR ,q;c-é-cua
ICU'M t‘lﬂﬂnﬂi‘.tlj Cl:ﬁ.’

2-methylpropan-2-ol
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